EARAROBEEIERT — 2 N— IBISH —F

20195F9A8H (H) 6MELR5H

C1Iue +>%— (XE] 28 | [REHE] - | £ (%) 14000 B
X
[A&4£] 1% :300,000" ~ 237%&:78,000 "  33&:42,000” 437 :30,000H .~ 57&:15,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i lgliy| s k=i i 5 gmf)é‘i 1:(2_9).1 7-7 9.1 — 9 445 iggé*ﬁ?)
RTUHAIILE BoAE—TLLE LA Per gt
olglip] TE—FIAEY- 3 | Boe- (11:235')/.;1) 35 398 — | 1 | 44 Qéé;}(*ﬁ)
LAY v = BT RXEY— (-2) BHAHS
sl7lo| 7V T 1F%7F i 6 Suézlgﬂ“*k 1(72?:;5 10-10 [ 39.1| — 7 (4_652) g%}%ﬂ— (3R)
LTANKET Y1 BAL—hO—LTA ST UL ¢
= % # 3 | EREE 1:29.6 9-8 39.4| — 4 439 | WFE— (KiR)
~AZN— 54.0 (1/2) (5) | T /
RV KRYIYRIR Biky M= K54 FEF 4
o ft 5 | WABER 1:29.7 1-1 408 — 8 480 | RN (BER)
INNILT T 54.0 (1/2) (+6) KE#HTE
R A bk—b BiYUMI YLy RS g vEERRRE FY Y a UK
22 f 4 | AR 1:30.1 8-6 40.1| — 5 431 | #ERAD (BER)
R —F 54.0 2 1/2) o) | BB
R:F1—TTVI 7 B:HYIEATY FTh)T7—L
: 10 | BAERA 1:30.4 6-9 40.4| — 3 475 | AR (KR)
I/ IL—F A51.0 (1 1/2) (-5) | EEER
A=A 2210 B4 I95T74 IYRLRT7—L
=R LR 7 5%621;1“% 1:30.4 2-2 “n.o0| — 1 401 §§E§ (7KiR)
. 74 » kE ]
RimF—ITUL B:XSA—TIrFqoY e 2 | %) Haa-KL-varaETs
Ve it 6 Eﬁ?igi% 1:30.8 5-3 “n.0| — 2 485 BE%EEE (B&FE)
. 21/2 i
QiRE-YLIO-X B:ISILALH— b @172 ® | s
SHIIE =Y it 4 ;éj‘i%ﬁ%ﬁ 1:(31).0 10-11 [ 40.7| — 6 436 E}EﬁE (KiR)
: 1 a B—
L:ErTOVY BVFNMATEYT =4 RE FR
“lilq vy k707 5 g%ﬂé 1:(341).6 44 420 — | 10 | 403 ﬁgﬁ (%KiR)
SZFAT=IK B:TIURE2—-F1— (-5) (e
® I —F—@EBIERL
13—7+—
230—7—
Jol=5r= 5,8,10,1,2,3,11,7,4,(6,9)
43—F— 5,8,2,1,10,7,11,4,3,9,6
[ N3
H OB 1 5,200/ 714K 10-11 1,300H % E 8-8 2,910H 3EHE 9-10-11 13,930H
8 B 1 680 9-11 6,800 B & 10-11 3,300 K31 11-10-9 125,010
10 120/ 9-10 1,010 B H 11-10 12,520
9 360M

ABICOVWTRDTEEERROODE. TR LIV,




